

YUMEX PHILS INC. TEL#: 0920-9201882

Email: n.sangalang@yumex-gr.com.ph

Dear Ma'am/Sir,

Kolin Marketing Inc., is extremely honored for your endorsement of Kolin brand and we are please to offer you with a special price/s for the following items.

#### A. EQUIPMENT & INSTALLATION - OPTION 2

\* Wall mounted - Certus \*

QTY	U/M	MODEL / DESCRIPTION	SRP	ZERO RATED	DISCOUNTED		AMOUNT
1	UNIT/S	MODEL: KL-IF60-G6H1M32 KOLIN FLOOR MOUNTED AIRCONDITIONER 58,140 Kj/h (5.0TR) FULL DC INVERTER R32 SINGLE PHASE	165,995.00	148,209.82	98,639.46	РНР	98,639.46
2	UNIT/S	MODEL: KSM-IW25-WCT10M1M32 KOLIN WALL MOUNTED CERTUS AIRCONDITIONER 23,210 Kj/h (2.5HP) REGULAR INVERTER W/ WIFI R-32	49,995.00	44,638.39	29,925.18	РНР	59,850.36
2	UNIT/S	MODEL: KSM-IW20-WCT10M1M32 KOLIN WALL MOUNTED CERTUS SERIES AIRCONDITIONER 18,990 Kj/h (2.0HP) REGULAR INVERTER W/ WIFI R-32	41,995.00	37,495.54	24,496.61	РНР	48,993.21
TOTAL UNIT COST						PHP	207,483.04
ESTIMATED COST OF INSTALLATION (please see attached)						PHP	153,050.00
TOTAL ESTIMATED COST OF THE PROJECT						PHP	360,533.04

\* Wall mounted - Primus \*

QTY	U/M	MODEL / DESCRIPTION	SRP	ZERO RATED	DISCOUNTED		AMOUNT
1	UNIT/S	MODEL: KL-IF60-G6H1M32 KOLIN FLOOR MOUNTED AIRCONDITIONER 58,140 Kj/h (5.0TR) FULL DC INVERTER R32 SINGLE PHASE	165,995.00	148,209.82	98,639.46	РНР	98,639.46
2	UNIT/S	MODEL: KSG-IWF-25WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 25,560 Kj/h (2.5HP) FULL DC INVERTER W/ WIFI R-32	68,995.00	61,602.68	39,818.04	PHP	79,636.0
2	UNIT/S	MODEL: KSG-IWF-20WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 19,000 Kj/h (2.0HP) FULL DC INVERTER W/ WIFI R-32	59,595.00	53,209.82	33,439.46	РНР	66,878.9
TOTAL UNIT COST						PHP	245,154.46
ESTIMATED COST OF INSTALLATION (please see attached)						PHP	153,050.00
TOTAL ESTIMATED COST OF THE PROJECT						PHP	398,204.46

### TERMS OF PAYMENT:

FULL PAYMENT OF UNIT AND DELIVERY CHARGE. IF CHECK, SUBJECT FOR 3 DAYS CLEARING.

### WARRANTY:

FOR FLOOR MOUNTED: ONE (1) YEAR FREE PARTS AND LABOR, FIVE (5) YEARS WARRANTY ON COMPRESSOR. FOR SPLIT TYPE: ONE (1) YEAR FREE PARTS AND LABOR, THREE YEARS (3) MAIN PCB, TEN (10) YEARS WARRANTY ON COMPRESSOR.

NOTES: \*\*\* Need to sign waiver agreement due to under capacity of unit choice.

PRICES ARE SUBJECT TO CHANGE WITHOUT PRIOR NOTICE.

PRICE IS ZERO-RATED.

\*\* Cost of Installation is Package with the Unit(s), this cost cannot avail separately (cost will be based on actual works).

\*\*\* You may settle first payment for unit/s & delivery. Installation payment can be settled directly to installer after actual works.

We thank you for giving opportunity to offer our product and services, hoping we receive your purchase order.

If you need assistance, don't hesitate to call the under signed at 0917-807-8607 or email at kmi\_asst@kolinphil.com.ph

Very Truly Yours,

JANELLEN S. LIN

/

M143)

KMI-SUPERVISOR

KMI-QUOTE-07-25-0545-rev1 REG-24%/14K/4K/7K Approved By:
MS. EDITHA M. FLORES
AVP - FINANCE

Conforme:

SIGNATURE OVER PRINTED NAME

Kolin Marketing, Inc.

1854 Sta. Rita St., Guadalupe Nuevo, Makati City

Tel.: (632) 8852-6473

Fax: (632) 8852-2170 / (632) 8852-4792 www.kolinphil.com.ph / kolinphilippines





July 24, 2025

Attention: YUMEX PHIL'S INC.

We are pleased to submit our Quotation for Installation of Aircon units.

# INSTALLATION

ACU #1 (6HP FLOOR MOUNTED)	
<ul> <li>Pipe length = 60 feet</li> </ul>	
<ul> <li>Royal cord length = 63 feet</li> </ul>	
Initial Charges	<b>₱</b> 14,000.00
Includes:	
1 <sup>ST</sup> 10 Feet Copper Tube	
1 <sup>ST</sup> 10 Feet Royal Cord	
10feet Pvc pipe drain 3/4	
Fabrication of Indoor unit	- 574 A. F. C. C.
Fabrication of Outdoor Unit	P 2,500.00
Excess feet copper tube ₱ 600 per feet x 50 feet	₱ 30,000.00
Excess feet Royal Cord ₱ 100 per feet x 53 feet	₱ 5,300.00
Nema and Breaker (set)	₱ 1,000.00
Plastic Molding of copper tubing 1pc. (indoor)	₱ 1,800.00
<ul> <li>Power supply THNN #10 P 70 per feet x 4 feet</li> </ul>	P 280.00
2. MASTERS BEDROOM (21 sqm)	
ACU #2 (2.5HP SPLIT TYPE)	
Pipe length = 51 feet	
Royal cord length = 54 feet	
Initial Charges	₱ 8,500.00
Includes:	
1 <sup>ST</sup> 10 Feet Copper Tube	
1 <sup>ST</sup> 10 Feet Royal Cord	
10feet Pvc Pipe Drain 3/4	
Floor Bracket	
<ul> <li>Excess feet copper tube ₱ 400 per feet x 41 feet</li> </ul>	₱ 16,400.00
<ul> <li>Excess feet Royal Cord ₱ 100 per feet x 44 feet</li> </ul>	<b>₽</b> 4,400.00
<ul> <li>3/4 Pvc Pipe Drain P 150 per pc x 4pcs</li> </ul>	P 600.00
<ul> <li>Nema and Breaker (set)</li> </ul>	₱ 1,000.00
<ul> <li>Power supply THNN #10 P 70 per feet x 4 feet</li> </ul>	P 280.00
3. ROOM 1 (16 sqm)	
ACU #3 (2.0HP SPLIT TYPE)	
<ul> <li>Pipe length = 30 feet</li> <li>Royal cord length = 33 feet</li> </ul>	
Initial Charges	₱ 7,500.00
Includes:	P 7,300.00
1 <sup>ST</sup> 10 Feet Copper Tube	
1 <sup>5T</sup> 10 Feet Royal Cord Galvanize Bracket	
10 feet Pvc Pipe drain 3/4	
Excess feet copper tube ₱ 350 per feet x 20 feet	B 7,000,00
Excess feet copper tube ₱ 350 per feet x 20 feet     Excess feet Royal Cord ₱ 100 per feet x 23 feet	₱ 7,000.00
3/4 Pvc Pipe Drain P 150 per pc x 2pcs	₱ 2,300.00 P 300.00
Nema and Breaker (set)	
- Itelia and breaker (set)	₱ 1,000.00

280.00

Power supply THNN #10 P 70 per feet x 4 feet

### ROOM 2 (18SQM)

## ACU #4 (2.0HP SPLIT TYPE)

- Pipe length = 46 feet
- Royal cord length = 49 feet

Initial Charges P 7,500.00

Includes:

1<sup>ST</sup> 10 Feet Copper Tube 1<sup>ST</sup> 10 Feet Royal Cord 10 feet pvc pipe drain 3/4

Floor Bracket

Excess feet copper tube ₱ 350 per feet x 36 feet
 ₱ 12,600.00
 Excess feet Royal Cord ₱ 100 per feet x 39 feet
 ₱ 3,900.00
 3/4 Pvc Pipe Drain P 150 per pc x 4pcs
 P 600.00
 Nema and Breaker (set)
 ₱ 1,000.00
 Power supply THNN #10 P 70 per feet x 4 feet
 ₱ 280.00

5. MULTI-PURPOSE (40sqm open space)

## (2.5HP WALL MOUNTED) Request by Client

Pipe length = 30 feet

Royal cord length = 33 feet

Initial Charges 
₱ 8,500.00

Includes:

1<sup>ST</sup> 10 Feet Copper Tube 1<sup>ST</sup> 10 Feet Royal Cord 10feet Pvc pipe drain 3/4 Fabrication of Indoor unit

Fabrication of Outdoor Unit
 Excess feet copper tube ₱ 400 per feet x 20 feet
 Excess feet Royal Cord ₱ 100 per feet x 23 feet
 ₱ 2,500.00
 ₱ 2,300.00
 3/4 Pvc pipe drain P 150 per pc
 P 150.00
 Nema and Breaker (set)
 ₱ 1,000.00

Power supply THNN #10 P 70 per feet x 4 feet
 P 280.00

### NOTE

Metrobank details

**Account Name** 

: Airmaster refrigeration and Airconditioning Services

Account no.

: 354-3-35423994-0

All Copper tube outdoor will expose

**TOTAL COST ₱ 153,050.00** 

Prepared By: MYRA GUILLERMO PROPRIETOR
WILSON ARQUILLO

July 25, 2025

Customer Name: Yumex Phils. Inc.

Customer Address: Rivera Golf Club, By-Pass Road Aguinaldo Highway Barangay San Vicente Silang

Cavite

## WAIVER

This letter confirms our agreement regarding the installation of air conditioning unit at your property. We understand that you have specific preferences for the type and placement of the unit.

AREA RECOMMENDATION CUSTOMER'S CHOICE REMARKS
40sqm. 4HP 2.5HP

Please be aware that by signing this waiver, you acknowledge and accept the following terms:

- AIR MASTER REFRIGERATION AND AIRCONDITIONING SERVICE will not be held liable for any issues arising from the specific type or placement of the air conditioning unit as per your preferences. This includes, but is not limited to, potential inefficiencies, aesthetic concerns, or any unforeseen operational problems.
- While we will strive to optimize the performance of the unit based on your specifications, we cannot guarantee the same level of efficiency or performance as a standard installation.
- We will make every effort to accommodate your preferences. However, AIR MASTER REFRIGERATION AND AIRCONDITIONING SERVICE cannot be held responsible for any concerns resulting from the unit's cooling capacity because it is based on your preferences.

Considering the above terms, we regret to inform you that we cannot guarantee the efficient performance of the unit. Also, one year warranty for parts (compressor - year/years).

I, <u>Yumex Phils. Inc.</u>, acknowledge that I have read and understood the terms of this waiver and agree to the installation of the air conditioning unit as per my preferences.

Customer Signature:

Date: